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300,000& ~12& 3,600
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02 Z2=2=24%4| 74,600 81,600 A 7,000
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OEAMSEHER B2 A 29|
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& 4,205
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< 132,604
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301 et A Z 12,000 12,000 0
MIEE43 12,000 12,000 0
O&sx=9 =& 1,000, 000& =122 12,000
THS LA HEEE P NAOISHSY ogd 201,738 175,238 26,500
=)
= 102,356
< 23,958
Al 75,424
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< 16,721
Al 46,481
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OJ=dgY HEES 105, 138, 000& 105,138
= 41,936
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Al 864
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Al 4,207
206 M= Hl 9,900 9,900 0
2 4,950
< 743
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2 4,950
= 743
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H)
2 1,250
< 187
Al 1,083
301 et a = 2,500 5,000 A 2,500
= 1,250
< 187
Al 1,063
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IEdEY eI AL 6,500 6,490 10
== 1,950
Al 4,550
402 BI2H X 20| M 6,500 6,490 10
o= 1,950
Al 4,550
02 QIZEXIEAIS E X (0| XM THL) 6,500 0 6,500
OINESHIHI L AA L L
13,000,000 *1JH 2 x50% 6,500
& 1,950
Al 4,550
SFEMIH & %A 12,700 12,700 0
201 et d| 12,700 12,700 0
01 AF 2t 2| H| 2,200 2,200 0
O EHAOSXE AXZE 1,200,000 1,200
OJilsedzn EX 2 S 1,000,000& 1,000
02 32%H| 10,500 10,500 0
O 9xg KA € 24 6,000,000 6,000
ORJlsgxs Al 4.,000,000& 4,000
OJIsg9 29| 500,000& 500
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201 gBt2Ad| 7,000 0 7,000
01 AP 2t 2| H| 7,000 0 7,000
OUAMHIISHL L2es22
7,000,000 7,000
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J| 153,704
o= 15,370
Al 87,095
301 et A= 256,169 226,503 29,666
J| 153,704
o 15,370
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11 JIEtE A= 256,169 226,503 29,666
OstNLESS A XA (2,383H)
256, 169,000& 256,169
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= 15,370
Al 87,095
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Al 87,500
301 et A= 175,000 175,000 0
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11 JIEtE A= 3,312 3,720 AN408
OAHEERIA(3455F) 3,312,000 3,312
J| 1,656
Al 1,656
AE R M2 430,646 442,906 AN 12,260
= 203,098
& 30,000
Al 197,548
AMEAM 2K 430,646 442,906 AN 12,260
= 203,098
& 30,000
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01 AP 22| H| 5,000 4,000 1,000
OMES o MY S22(2) M
4,000 %1,250H 5,000
02 =224 H| 4,200 4,200 0
OXg X & 2eldl 4,200,000 4,200
202 044l 2,000 2,000 0
01 2L Hl 2,000 2,000 0
OME 2 BEANAL 28 FoAos
2,000,000 2,000
206 M = dl 2,400 2,400 0
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